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(A) BB KB HH100kN/ MEBZDXEBDFEID DO FKIEKN/M) (E) HEEH3IMEB A IR OHIBED HDRERARIEKN/M) g = s -2
(B) (MA L KR B AT HI5E D+ B ZEDHS(m) (F) O BHBEM AT 58 0 £ FE DB Sm) =rEAE il AT ERET AR
(C) BEN=KBHIH100kN/ M LL T DR BDFEEND DR AKIEKN/ M) (G) HEEAIMLUT ORIGDHERED DR AKEKN/ ) LEREE
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XNES 1

(A) (B) (©) (D) (E) (F) (@) (H) (A) ) ©) (D) (E) F) ©) (H)
(1) 1338 10 99.7 10 - - 13.3 26 1315 10 96.9 1.0 - - 116 23
( 2) 104.7 1.0 99.2 10 - - 11.1 22 102.6 10 96.9 1.0 - - 11.1 22
( 3) 1406 10 99.7 10 - - 14.0 28 140.1 10 96.9 1.0 - - 140 28
( 4) 1406 1.0 99.7 10 - - 13.6 27 140.1 10 96.9 1.0 - - 136 27
( 5) - - 81.7 10 - - 95 1.9 - - 81.4 1.0 - - 9.5 1.9
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